FREERTY T v b

BT . mm
BEE A L
srowy |z | RO | g | e | o FOOB Bx | ma
A
Hi1 Hz H

KSS06—010E 6 g 4 17 17 14 7 32 13 | 425 | M12x1.5 13 | 0.060
KSS06 —020E 6 Vs 4 17 17 14 7 32 13 | 425 | M12x1.5 13 [ 0.068
KSS08—010E 8 g 6 19 19 17 7 32 18 | 425 | M14x1.5 13 | 0.005
KSS08—020E 8 17 6 19 19 17 7 32 18 42.5 Mi4dx1.5 13 |0.083
KSS10—020E 10 14 8 19 22 19 T 32 18 43.5 M16X%X1.5 13 [ 0.099
KSS10—030E 10 34 8 24 22 19 7 32 20 | 43.5 | Mi6x1.5 13 | 0.122
KSS12—020E 12 1 10 22 24 22 7 32 18 43.5 Mi18x1.5 13 10312
K8812—030e 12 348 10 24 24 22 7 32 20 43.5 M18x1.5 13 [ 0.134
KSS15—030E 15 34 12 27 27 27 7.5| 3r 20 49.5 | M22x1.5 15 |0.181
KSS15—040E 15 s 12 30 27 27 7.5| 37 25 | 49.5 | M22x1.5 15 | 0.234
K8816—030E 16 38 13 30 | a 27 9| o 20 49.5 M24x1.5 15 | 0.265
KSS16—040E 16 13 13 30 30 30 75| 37 25 | 495 | M24x1.5 15 | 0.275
KSS18—040E 18 13 14 30 32 32 8 39 25 | 51.5 | M26x1.5 15 | 0.299
KSS20—040E 20 12 17 36 36 36 8 39 25 | 51.5 | M2Bx1.5 15 | 0.445
KSS20—060E 20 3 17 36 36 36 8 39 27 | 51.5 | M2Bx1.5 15 | 0.369
KSS22 —060E 22 3, 18 36 36 36 9 39 27 | 51.5 [ M30x1.5 15 |0.381
KSS25—060E 25 7 20 a1 41 41 10 39 27 | 525 M35x1.5 15 [0.539
KSS25—080E 25 1 20 46 41 4 10 39 31 | 525 | M3x1.5 15 | 0.608
KSS28 —080E 28 1 22 46 46 46 10 4 31 | 55 M38x1.5 15 | 0.706
KSS30—080E 30 1 25 46 46 46 10 41 31 | 55,5 | M40%1.5 15 | 0.682
KSS30—100E 0 | 1Va]| 25 55 46 46 10 41 35 | 555 | M40x1.5 15 10.830
KSS35—100E 3 | 114 | 28 55 50 55 11 43 35 | 605 | M45x1.5 15 |1.040

AER: COBROMFUEEREFENELAOOT RERORE T 5@ Hu RERF-XNENEH I kS VB THEE 75> 7%,
RE R (RFICHD ZRECHERBBRISLD) FRETT,

ZF OFELLIL. GE -5 - AEOLOTEEERETIBI SN T,



